pr [GeV/d\y*

(1.50, 1.75)

d%0/(dprdy) [mb/(GeV/c)]

(1.75, 2.00)

(2.00, 2.25)

(2.25, 2.50)

(2.50, 2.75)

26.049 £ 1.734 £ 1.961 £ 4.494
47.452 +0.229 4 2.317 £ 4.304
42.066 % 0.153 & 1.760 £ 2.658
34.993 £ 0.350 £ 1.535 £ 1.662
26.858 £ 0.227 £ 0.865 £ 1.295
19.321 £ 0.165 £ 0.615 % 0.963
12.973 £0.114 £ 0.409 % 0.563
9.619 & 0.098 £ 0.379 £ 0.449
6.639 & 0.075 £ 0.323 £ 0.341
4.851 £ 0.063 £ 0.194 £ 0.212
3.492 4 0.051 £ 0.163 £ 0.148
2.230 £ 0.023 £ 0.104 £ 0.099
1.395 £ 0.021 £ 0.063 =+ 0.060
0.818 4 0.013 £ 0.022 £ 0.036
0.438 4 0.019 £ 0.032 £ 0.020
0.284 4 0.016 £ 0.015 £ 0.013
0.196 & 0.009 £ 0.008 £ 0.008
0.136 & 0.005 £ 0.006 £ 0.006
0.074 & 0.004 & 0.004 £ 0.004

25.059 £ 0.128 £ 0.594 £ 1.304
47.37540.222 4+ 0.870 £ 2.639
44.164 4+ 0.188 4 0.962 £ 2.054
35.978 £ 0.140 £ 0.653 £ 1.709
28.324 £ 0.109 £ 0.440 £ 1.250
19.133 £ 0.155 £ 0.295 &+ 0.817
13.543 £ 0.057 £ 0.282 4+ 0.578
9.947 £ 0.120 £ 0.222 £ 0.432
7.358 4 0.039 & 0.205 £ 0.323
4.857 £0.040 £ 0.151 +0.215
3.726 £ 0.027 £ 0.088 £ 0.168
2.275 4+ 0.022 £ 0.058 £ 0.097
1.297 £ 0.013 £ 0.037 £ 0.056
0.764 £ 0.010 £ 0.018 £ 0.032
0.446 £ 0.007 £ 0.009 £ 0.019
0.278 £ 0.007 £ 0.010 £ 0.012
0.168 £ 0.005 £ 0.007 £ 0.008
0.103 £ 0.005 £ 0.008 £ 0.005
0.055 £ 0.002 £ 0.003 £ 0.002

25.716 £ 0.090 £ 0.327 £ 1.205
46.707 £ 0.160 £ 0.630 £ 2.243
44.574 4+ 0.103 £ 0.564 £ 1.952
36.344 £ 0.112 4+ 0.546 £ 1.558
27.658 4 0.089 £ 0.358 £ 1.336
19.185 + 0.062 + 0.381 4 0.828
13.060 = 0.059 + 0.336 & 0.672
9.450 4 0.055 & 0.189 £ 0.405
6.747 +0.036 = 0.137 £ 0.292
4.723 +£0.032 4+ 0.114 4 0.200
3.437+0.029 4 0.088 £ 0.146
2.196 £ 0.019 £ 0.061 £ 0.097
1.161 £ 0.014 + 0.044 + 0.050
0.702 4 0.008 & 0.014 £ 0.031
0.394 4 0.006 & 0.012 £ 0.018
0.239 4 0.005 & 0.007 £ 0.028
0.145 4 0.004 & 0.005 £ 0.007
0.098 £ 0.003 % 0.004 £ 0.005
0.053 £ 0.002 £ 0.002 £ 0.003

26.194 £ 0.079 £ 0.455 £ 1.208
45.091 £ 0.137 £ 1.369 £ 2.000
43.939 £ 0.129 £ 0.876 £ 2.220
35.023 £ 0.103 £ 0.550 £ 1.541
26.622 4 0.080 £ 0.554 £ 1.151
18.717 £ 0.069 =+ 0.251 + 0.822
12.918 £ 0.057 £ 0.354 & 0.542
8.918 4 0.057 £ 0.234 £ 0.386
6.269 + 0.042 4+ 0.170 4 0.267
4.430 +0.035 4+ 0.126 £+ 0.194
3.142 4+ 0.025 + 0.121 £ 0.132
1.964 + 0.014 % 0.053 £ 0.086
1.188 £ 0.009 % 0.049 + 0.053
0.682 4 0.008 £ 0.022 £ 0.031
0.428 4 0.006 £ 0.010 £ 0.020
0.276 4 0.005 £ 0.008 £ 0.014
0.184 4 0.005 £ 0.009 £ 0.011
0.116 % 0.004 & 0.006 £ 0.007
0.069 % 0.002 £ 0.003 £ 0.005

26.046 £ 0.075 £ 0.607 £ 1.1
46.465 4 0.138 4 0.780 £ 1.
41.657 +0.120 4 0.852 & 1.7
33.970 £ 0.095 £ 0.659 £ 1.4
24.771 £ 0.095 £ 0.536 £ 1.(
17.124 £0.076 £ 0.345 £ 0.
12.153 £ 0.056 £ 0.248 £ 0.
8.350 & 0.038 £ 0.205 £ 0.3
5.691 £ 0.036 £ 0.145 £ 0.2
3.983 £ 0.028 £ 0.105 £ 0.1
2.87740.022 £ 0.087 £ 0.1
1.842 £0.013 £0.049 £ 0.0
1.052 £ 0.009 £ 0.032 £ 0.0
0.605 £ 0.007 £ 0.015 £ 0.0
0.355 & 0.006 £ 0.009 £ 0.0
0.227 £ 0.005 £ 0.008 £ 0.0
0.143 £ 0.005 £ 0.006 £ 0.0
0.110 4 0.004 £ 0.006 £ 0.0
0.059 £ 0.003 £ 0.004 £ 0.0

15.0,30.0 (9.14£0.5+£0.5+0.5) x 1073 (6.8+£0.3+£03+03) x 1073 (74+£03+04+0.8) x 1073  (10.7+05+0.740.9) x 10~  (9.3+1.1+1.3+0.7) x 10
pr[GV/\y* (2.75, 3.00) (3.00, 3.25) (3.25, 3.50) (3.50, 3.75) (3.75, 4.00)
(0.0,1.0) 26.300 £ 0.149 + 0.840 & 1.169  26.038 £ 0.083 & 0.662 & 1.191 24.968 & 0.147 & 1.061 + 1.189  23.157 = 0.196 = 1.842 + 1.157  20.817 & 1.548 & 1.918 = L.
(1.0,1.5) 44.909 + 0.177 £ 1.057 + 1.965  44.107 = 0.152 + 0.649 = 1.959  39.851 = 0.269 & 2.554 = 1.807  36.184 = 0.336 & 1.706 = 1.688  35.092 = 0.401 & 1.848 = 1.¢
(1.5,2.0) 41.222 4 0.124 + 1.261 + 1.769  37.934 + 0.172 + 0.827 + 1.668  36.200 £ 0.203 & 1.124  1.708 32475+ 0.262 &+ 1.177  1.541  27.126 + 0.421 & 1.168 = 1.-
(2.0,2.5) 31.966 & 0.121 4 0.963 &= 1.501  28.923 £ 0.127 & 0.644 £ 1.291  27.061 & 0.139 £ 0.855 &+ 1.342  23.492 4+ 0.139 &= 0.796 & 1.048  20.558 % 0.243 & 1.053 & 1.
(2.5,3.0) 22,247 £ 0.087 4 0.451 & 0.977  20.647 £ 0.087 & 0.412 £ 0.918  18.474 & 0.097 £ 0.814 £ 0.812  16.646 = 0.123 & 0.755 = 0.779  14.379 % 0.208 = 0.637 == 0.
(3.0,3.5) 15.693 £ 0.070 & 0.332 £ 0.708  14.210 % 0.066 = 0.308 £ 0.631  12.554 & 0.072 £ 0.365 & 0.573  11.648 & 0.101 £ 0.451 = 0.563  9.117 % 0.152 £ 0.424 + 0.5
(3.5,4.0) 10.468 + 0.052 + 0.246 + 0.459  9.542 + 0.048 + 0.260 + 0.425  8.336 + 0.055 + 0.285 + 0.370  7.540 £ 0.072 + 0.303 + 0.409  6.285 + 0.185 + 0.525 + 0.4
(4.0,4.5) 7.317+0.038 + 0.159 + 0.317  6.576 +0.037 £ 0.174 £ 0.304  5.675 4+ 0.043 + 0.155 + 0.258  5.108 + 0.068 - 0.204 £ 0.253  3.678 £ 0.138 + 0.273 + 0.2
(4.5,5.0) 5108 +0.030 £ 0.116 +0.234  4.799 £ 0.033 + 0.136 £ 0.216  4.029 £ 0.040  0.121 £0.188  3.322+0.061 & 0.149 £ 0.167  1.971 = 0.154 % 0.269 = 0.1
(5.0,5.5) 3.645 +0.025 £ 0.088 +:0.166  3.189 = 0.026 + 0.081 £ 0.147  2.725+0.034 + 0.108 £0.139  2.307 = 0.082 = 0.158 £ 0.119 -
(5.5,6.0) 2.61140.021 £0.074+0.114  2.206 £ 0.024 +0.068 £ 0.111  1.847 +0.030 + 0.077 £0.093  1.510 = 0.094 = 0.152 = 0.080 -
(6.0,7.0) 1.656 & 0.013 + 0.052 + 0.073  1.372+0.014 + 0.056 + 0.064  0.983 = 0.023 + 0.049 = 0.049  0.717 £ 0.073 £ 0.180 £ 0.039 -
(7.0,8.0) 0.924+0.010+0.033+0.042  0.746 + 0.012 + 0.034 £ 0.035  0.493 = 0.021 + 0.044 + 0.030 - -
(8.0,9.0) 0.533+0.009+0.018 £0.025  0.405 + 0.014 £ 0.025 + 0.021  0.202 + 0.028 + 0.038 + 0.011 - -
(9.0,10.0) 0.287 +0.008 + 0.010 £ 0.014  0.243 + 0.013 + 0.018 + 0.013 - - -
(10.0,11.0)  0.161 % 0.007 £ 0.011 £ 0.008  0.129 = 0.015 % 0.024 = 0.008 - - -
(11.0,12.0)  0.110 % 0.008 = 0.009 % 0.007 - - - -

(12.0.13.0)

0.079 4+ 0.007 4+ 0.011 £ 0.005



